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Since there are Holiday Pilgrims who ascend to 27w,
witnesses will be frequently found.

OVERVIEW
An occupant of a property — 117 — is required to retain his deed — W — for
a period of (at least) three years from the time of his ownership. Otherwise,
the previous owner may challenge the occupant’s ownership. [After three
years he is considered a P1mn and no one can challenge his ownership, even
if he has no ww.] If during these three years the previous owner issued a
protest — XM — challenging the occupant’s ownership, the 2’71 must retain
his 70w for an additional three years from the date of the last xmn. This ARM~A
need not be made in the presence of the p1rn; it may be issued in his
absence. This is called a 1192 X5 18nn. There are circumstances in which
this 1192 X%W nXmn is not valid, as Moo will shortly discuss. In those
instances when the 7IXm7% 1s not valid, the ?°11» needs to retain his W until
the original owner is in a situation where he can make a legitimate axmn.
Our X713 states that in all of °"X, even 71°Tn2 71720, there are 711 D7V
M™% since there are 0731 7.
MooIN anticipates the following question:

— (3,n% 97 x9Ma N22) DONAN NPIN 135NN 19392 RIYW ANNN PIYIT 2) YY GN)
And even though that concerning ‘a protest not in the presence of the

occupier of the property’ the X723 states in 2°n277 NPT 279 that -
= ANNM NN XYY MT DIPN NYWI DP0N NN ONo

Generally, the states of 7737 and »°93 are comparable to a time of crisis
in which people do not travel from state to state and therefore it is not

considered to be a 71NN, since the protest was issued in 7717 and the Pmn lived in
5993 or vice versa, we assume that the p>1in did not hear of the axnn. The 711 is therefore
not a good 7pIM. Since the P17 knows that the 7y yn cannot make a 7Xn» which will
reach the »11n, he must be careful to retain the deed. We derive from that X723 that
generally there is no traffic between 777 and %°%3. How is it that the X3 states here that
everywhere in °"X there are P2 %1 0> even between 7177 and 2°%3, on account of
the 0737 *9?

moon answers and distinguishes between 7117 and Y3
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This is because it is not customary for the p>1» to inquire if a I87» was

made’ -
- 1)3”‘;77 1229810 QXTYN HNIHN ©YF2312N DY INR NITNNIY NIN SaN

However, in this case of the woman who received a v} from her husband,
who is coming to contest the v3;? then she inquires about witnesses® who
recognize the signatures of the witnesses that signed the vi. She is
diligently pursuing finding these witnesses. We can rest assured that this

minimal traffic is sufficient. Witnesses will be found to authenticate the
signatures, even between 2221 7717, since there are 0937 *1.

mooin asks:

= NIOIN YIWUN (x,)9m IPYT 9NN ON)
And if you will say; later in the X723 it appears to be just the opposite, of
what we stated here. From our X773 it appears, based on M501n previous explanation, that
it is more likely to find 2>7¥ for o1°p than for a p*1nn to hear a IXn». We may surmise that
whenever 07y for 01p are not *i°>w (which requires 192 to be said), then certainly (in the
same situation) a 1Xm» will not be valid. This is in contrast to the X71x there, in which

there is a discussion —
= 1399YY A99YN AN9) 2393 Y9989 279237 XIINM )1 )

Concerning the citizens of X1 who travel constantly, and the Xn
requires that 1''22 needs to be said even when a vi is sent from one

neighborhood to another neighborhood in xnmn. This leads us to conclude that

in X11n, there are no W™ P PM¥N DT -
= ANRNN NN N 9 XHINNA VN

Can we then assume that in X777 a 17192 X5w axm» will not be considered
as a valid ;xmna?2!4

mModIn answers:

! The pmn is secure in the knowledge that he owns this property rightfully. He does not at all suspect that
anything fraudulent occurred. He therefore makes no effort to inquire whether anyone is making a axnn.
Therefore, the minimal traffic between 2°>3 77177 is not sufficient to alert him to the 7xmn.

2 There is no 211 to say 1'92 in >"X. If the husband will be y7yn then the v3 needs to be 2pn. In >"X there
are 1m°°P7 XN 027V since there are (*¥*2p7 1°1°7 °N27) 2270 W,

3 She needs to be o»pn the v3 against the ¥ 1WA to retain her status as a NwIM, etc.

4 On one hand based on what Mmoo said previously we will assume that if the woman cannot find 279 in
Xnmn itself, then certainly the p i will not hear of the nxnn. However, it is somewhat incredulous to
assume that in the same city a 1°192 X?w 7817 is not a IRMA.
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And one can say; there in XNrn even if he makes the nxm» in the

presence of people that are leaving X1117, leaving one to think that it should not
be a 7xnn since they are leaving X1nn and will not inform the P11 about the axmn. This

is not so. Even though they are leaving and not informing the p>1mn —
- ONN 1PIINTI N5 N NIAN NN DIINNRY 199N DNIYN 97 ©IPNI JaN

Nevertheless, in their travels they will tell others concerning this aXmn,

and that friend has another friend etc., as the X213 states there in 2"

Therefore, it is a valid axnn for it will eventually get back to the P 1 -
:DNY TOIVKIYD DP RN XY 2719937 1195 0P PIvY YaN

However, concerning 2p, since they are traveling, they will not be
available for 213 when they will be needed; for they are traveling.®

SUMMARY

The traffic between 2793 777 is not sufficient for a P>1n to hear a a8mN,
since he is not expecting one. It is sufficient however for the woman to find
avp 7Y since she is aggressively searching for them to maintain her new
marital status. Concerning Xnnn, the 117 will hear of a aXmnM issued in X1A
for those traveling will tell their fellow travelers about the fXmn and word
will get back to the pP»nn (in X1n). The woman however needs the
witnesses in person to authenticate the 7n°nn. However, they may be out of
town and unavailable to be o™p»n the v} when the woman needs them.
Therefore, in such cities 1"52 must be said even I12w% 712WH.

THINKING IT OVER

Why is it that concerning 2°23 777 even though it is °n7 017°n nyw?, that
people do not travel frequently, nevertheless we maintain that 1"91 is not
necessary since the woman will seek out the witnesses who recognize the
nnnn; however, concerning XM she will not be able to seek out these
witnesses? Similarly, why is it that concerning 7°%2 777 the P will not
hear the 1xm», however in 811 he will hear the axnn?’

5> Eventually the word will get back to the P>, People travel to X1nn often; especially the people of X1
themselves.
® Word of mouth is of no avail for ovp; only for nxnn. Those people that recognize the signatures will be
out of town (for an extended period of time). The woman will not be able to either remarry or to remain
with her new husband on account of the 5v277 2w and lack of avp.
7 See oon T
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